oh5 19 0] HPAPAT ABCD oA
AB = 6cm , BC = 10cm , /BCD =
120° 4 wf, AC o] Zo]=?

® V67 @ V71

® 2v19 @ 36

& V95




ohg e o] ol Pobrs] ¢l S Ftolct
=

. sHe

@ (3-V3)m @ (3V3-3)m ® (4V3-1)m

@ (4V3+1)m ® (3V3+3)m



che 290 A7g o) Helg &7 7o
AL

@ 24cm? @ 24+2cm?

® 24+/3cm? @ 48cm?

3 48 V2¢m?2



4.

ok 73} 2ol W] Lol 10em 91 Uol sHE
Hol Tatelet.

® 200 cm? @ 200 V2 cm? 3 200 V3 cm?

@ 2022 cm? 3 2023 cm?

OEL

I



5.

cos A :% A o], tan(90° - A) o] FE-27(H, 0° <A <90°)

O] ©)

o | W~

® @ ®

U] W
NS

>~ o

U]~



U2 5 9] do]7t 3em ¢l Yof WHst=
AABC oA BC = 5em 9 o, cos A 2] Zt
= F5HH?

@g ©611




2 2 2s5in60°tan30°cos0° + 7 9] FL2?

D 3 @ 5 3 6 @ 8



8. the I1¥T 2 AABC o Wol7t 5v2em? & w, AB 9] Zol2
Fstoler,




ohg 1%} ol G2 7145 & o
A3 A% 6km 2, FAL AT A

-

3l A2 A% dkn 2 7
Foll = QAIzre] A2l B
ettt
A4
(0 A7

R km



10. o2 183 & AABC 94 AB = 6cm , BC = 8cm ©] 1L, {o]7}
12V2em? 9w, /B ©] 27|15 Fatoiat (T, 0°< /B <90°)

/A
GCm/ ﬁ
L e
“T--8em--"



